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Geometry C Final Exam Review 2016-17

1. Which graph shows T__, ; _(AABC) ?
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2. What is a rule that describes the translation ABCD — A'B'C'D'?
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A. T_,, (ABCD) C. T.;5,(4BCD)
B. T., .(4BCD) (// 2.5.(4BCD)
3. The vertices of a triangle are P(5, 2), )(—4, 6), and R(-7, 3). Name the vertices of R, _(APQOR).
(&) P2, 9,06, -4,RG, -7) C. P'2-5),064,RG,7) (%Y)=(y,x)
B. P'(-2,-5),0'(-6,4),R'(-3,7) D. P'(-2,5),0'(-6,—4),R'(-3,-7) ‘
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4, (Ml;ich graph shows a triangle and its reflection image over the x-axis?
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5. A carnival ride is drawn on a coordinate plane so that the first car is located at the point (60,0). What are the

coordinates of the first car after a rotation of 270° about the origin? (X y ‘)) — ( ij _ )/)
) K
@ (0,—-60) B. (-30,-30) C. (0,60) D. (-60,0)
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6. The dashed triangle is a dilation image of the solid triangle. What is the scale factor?
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\;<The dashed-lined figure is a dilation image of EFGH. Is D, ;,, an enlargement or a reduction? What is the
/

scale factor » of the dilation? (Note that the axes are labeled by 2’s)
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A. k=3;reduction C,) k=3;enlargement
B. k= 6; enlargement D. k=—%; reduction

Find the area. The figure is not drawn to scale.

43 in. ',—\ - bh
=43 (32)
= T

@ 1376 in.2 B. 1720 in2 C. 150in2 D. 75in2
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— A=
_a.1(a)
L
= 945
i 2.1cm
A. )9.45 cm? B. 11.1 cm? C. 37.8 cm? D. 18.9 cm?
10. The area of a parallelogram is 150 cm? and the height is 25 cm. Find the base. & =l "
A. 175cm B. 125cm C. 3,750 cm? D)6em A =h |
1560 = b ( 25)
Find the area of the trapezoid. ,
b= Q
11. Lo
h( b Ao )
8 in. A =
2.
— s ]{)-
7 in. 8 in. <~ 7(8*1>)
A
H _ = 7 (20)
12 in.
Not drawn to scale A
A. 80 in.2 B. 77.2in.2 C.) 70 in.? D. 75in.?2
12. Name the major arc and find its measure.
i | ,
BDA = 3¢0-50=3|0
— —_ T — —
A. BDA; 50 B. A4B;310 @) BDA; 310 D. 4B; 50
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il — Lol
13. Findth@fypx. A= 3 ot

/ﬁ#
@‘) 471m B. 157m C. 942m D. 28274 m
14. Find the area of the shaded portion of the figure. Dimensions are in feet. The figure is not drawn to scale.
h(b 4. ) A ek
b4 0= e v 4 \ =11
f 2
- U+
7 Y1 4 . ! = AT Y
2 ’ = 6 O, .d 7/,i
4 iy L = i
= 3\ /) C:%\ g —
S . 78 - 50, A7 =
: 2 ii - ¢C¥ - 50.27
A. 217 f @ 17.7 ft* C. 4291 D. none of these
15. Find the area of a sectop-with a central angle of 190° and a diameter of 5.8 cm. Round to the nearest tenth.
A. 558 cm? @ 13.9 cm? C. 24cm? D. 6.1 cm? A= X ar
' FeO
Use formulas to find the surface area of the given prism. Round your answer to the nearest whole 2
number. - = 190 7777 ‘;L (,/
16. 3e0
O ,/L ______________________________ o i,‘ =. ' 2 ’C"
5 - A 2.1
2m L//
12m ) A ) n i ” /
w 3/\ E IL/ wtA¥ht oL )
Not drawn to scale ~ - gy e |
= A(2)12) +a(a)H) +2 (12)(H)
@ 160 m’ C. 64m?
B. 112m’ D. 144m?
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17. 17. Find the tcEl’s——urifgcﬁgrea of the triangular prism. SA = h [3 F2 ,5

h=(23 o
P= §:9+ Iy =@7.04

P= bh _3(4a)
27 &

1204 m

=33(29.04) + 2 (3¢)

- [739.9)
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Mot drawn to scale

A. 771 m? C. 828m?

B. 667.9m> @ 739.9 m?

18. Find the surface area of the cylinder to the nearest whole number.

ﬂ SA <= QTr2 4 27rh

=2 TQd)+aTw (>0) (1)

14 in.
Not drawn to scale
A. 15579 in.? B. 1759 in.? C. 5777in.> @ 4273 in.?

19. Allison is planning to cover the lateral area of a large cylindrical garbage can with decorative fabric for a
theme party. The can has a diameter of 3 feet and a height of 3.5 feet. How much fabric does she need?
Round to the nearest square foot.

A. 66 ft? B. 61ft @33 ft> D. 123ft
Gide A= Dp (k)
47 (15 (3.5)
= [32.99)

7
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Find the surface area of the regular pyramid shown to the nearest whole number.

L, SA= | 5(}7P E - \\ : (/\‘//‘ ek
P=4(3) %20

= 5 /)(01‘1)4*02)
’v = 6): A%

Mot drawn to scale

A, 1152 B. 583 fi’ C. 175 @95&2

21. Find the slant height x of the pyramid shown, to the nearest tenth.

Mot dtavwn to scale

@}6.7mm B. 7.8mm C. 89mm D. 3.7mm
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22. Find the surface area of the cone to the nearest tenth.

. o 4 [ f .
Sh= Trrs Tk Y
5, s T e 5 =
275+ T(7)(27) ¢
27 cm e e
Mot drawn to scale
A. 622 cm? B. 51cm? C. 1385cm? @) 747.7 cm*

Find the volume of the given prism. Round to the nearest tenth if necessary.
P

— 7 B V= Bh h ﬂ‘ij )
g B=% - =

17m " L',Z)

@17m3 B. Im’ C. 85m’ D. 34m’
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Find the volume of the cylinder.

24, \,/; //T—fﬁlh 1]: v

l4in. = (109 cf?.

Mot dravwn to scale

@ 1099.6 in.’ B. 219.9in.’ C. 16273 in.’ D. 791.7in.?
25. Find the volume of the composite space figure to the nearest whole number. g
: -~ Ty h
o ) \ j !
Ov=wh @ V= =
C",' o A 4
< =9l L st
- ﬁt‘_\,{" = £ TS
/o . 54 2
L e
— % ¥ Ci Q¢
= I 51
Q| Yo Qg - C >
9 >4 + IY9.89= 143 ‘3(1
Mot drawn to scale
A. 12938mm®  B. 699.8 mm’ @ 944 mm® D. 591 mm’

10
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Find the volume of the square pyramid shown. Round to the nearest tenth if necessary.
=~ =
o o425, \/ = l‘))’) h - /5
15 em 2 B“’ “2_ fell
: = |2 ( i 6)
1
r 1 ‘5
T I
I I ;.
LA \ ; 11 cim
11 cm
Mot drawn to scale
A. 1815cm’ @ ) 605 cm” C. 660 cm’ D. 220cm’
Find the volume of the right cone shown as a decimal rounded to the nearest tenth.
: s i)
> =t
27. \ = gl / 1 adt
> h =36
EVR
R B « ~1 9 (J&)
9
2205 .4
Mot drawn to scale
A. 156m’ (B/\ 2205.4m’ C. 2808m’ D. 8424m’

Find the surface area of the sphere with the given dimension.

28. radius of 20 m o
A. 628 m’ @) 5026.5 m> C. 1256 m? D. 25133 m’

SA = Yqr*

= Y (26°)

- 5026.5

11
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Find the volume of the sphere shown. Give each answer rounded to the nearest cubic unit.

\7e Aorr?
29. V= —
3

_ 3

= 4 TT

N

= 248

<~

7N
A. 67 mm’ B. 134 mm’ (9/ 268 mm’ D. 201 mm®

Are the two figures similar? If so, give the scale factor of the smaller figure to the larger figure.

30 3 X Y 1§
7 | 21~ A| (2 54

* 12 / \ J

T 1 1 4

- 3 v 3

54
Mot drawmn to scale
@ €s; —1 B es; —1 C es; —1 D. no
y b 3 * y b 2 4 y b 5 ¥

31. Find the scale factor of a prism with the surface area of 100 ft* to a similar prism with the surface area of 361

2
é 10: 19 B. 6859:1000 C. 19:10 D. 1000 : 6859
00 ey g = L oo 36
0% 1 = | a5 ls oot 36 |
il 4
a-h 0% 19

12
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32. If'the scale factor of two similar solids is 4 : 13, what is the ratio of their corresponding areas? What is the

ratio of their corresponding volumes?

A. The ratio of their corresponding areas is 4 : 169.
The ratio of their corresponding volumes is 4 : 2197.

B. The ratio of their corresponding areas is 64 : 2197.
The ratio of their corresponding volumes is 16 : 169.

C. The ratio of their corresponding areas is 8 : 26.
The ratio of their corresponding volumes is 12 : 39.

D.\ The ratio of their corresponding areas is 16 : 169.
The ratio of their corresponding volumes is 64 : 2197.
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33. The surface area of Solid A is 675 m? and the surface area of Solid B is 432 m?2. If the volume of Solid B is

960 m?3, find the volume of Solid A.

7~

A. 1500 yd’® B. ) 1875 yd®

34. ABis tangent to O O. If A0 =40 and BC = 45, what is AB?

The diagram is not to scale.

@‘) 75 B. 115

13

5 = 2. N
(07)'45.}( — e Glr b}'——/.}"; /2
ash 5 5 LY
C. 1200 yd’ D. 1000 yd’ _
3.3
a’ly =i25.61
2 A L. A ([/L/‘i/ = C;Q'C
)Ql + L/() :5 > QL{X”“/;(UCZ‘O
X +lp,00 =7225 | i
/(L,} P X = 1875
[ x*=Bbas
X= 75
C. 90 D. 85



Name:

35. WZ and XR are diameters. Find the measure of ZIWX . (The figure is not drawn to scale.)

[go+34= 254

180°
A. 52 B. 254 @ 234 D. 308

Find the value of x. O is the center of the circle.

36.

@, /33 D. 114

14
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37. Find x in circle O. (The figure is not drawn to scale.)

_ 4k
X= "%
@ 23 B. 44 C. 92 D. 46
38. mﬁ =109 and mEC\’ =70. Find m£A. (The figure is not drawn to scale.)
09 -70
M </+ 2, —————
‘ L
- 19.5
K\
A 74 B. 39 (c/) 19.5 D. 895
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39. Find the value of x for m;i—g =28 and mCD = 32. (The figure is not drawn to scale.)
U
HA

X A

o

| = 30
@ . C. 44 D. 60

40. E , E, and L—] are all tangent to circle O (not drawn to scale), and ﬁ = E .JA=9,4L=10
Find the perimeter of AJKL.

Po Al4) F 201043 (1)

= |8+ 20 +20
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